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Wא(1.44 MB)ISDN 
= 1.44x106x8 / 128x103/s =90 s  T=1.44 MB / 128 Kb/S

90K
10 GB(OC-48)STS-48 

T = 10 GB / 2488.32 = 10x109x8 / 2488.32x106/s =32.15 s 
א30K

אאאא،
אאאK

אTא،אא
אאאאTאאW

• אאא،אאאK
• אאF،EK 
• אאאK 
• אFאאאאEK 
• אK 
• אK 
• אא،אאאK 

אאאאאאאK
 
 
 
 
 
 
 
 
 


